

#### **Affiliated to the Bankura University**

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

#### 6.5 Internal Quality Assurance System

File No	File description
6.5.1	Internal Quality Assurance Cell (IQAC) has contributed significantly for institutionalizing the quality assurance strategies and processes. It reviews teaching learning process, structures & methodologies of operations and learning outcomes at periodic intervals and records the incremental improvement in various activities



#### **Affiliated to the Bankura University**

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : <a href="mailto:bmmcbu@gmail.com">bmmcbu@gmail.com</a>

#### **Internal Quality Assurare System**

Significant Contribution	Various measures	Activity
The quality assurance strategies and processes	IQAC conducted various meetings to improve the coordination and communication of various measures  IQAC have implemented e- learning, and evaluation processes using the ICT tools and teaching aids.	1. IQAC Meeting on 14.07.2019 2. IQAC Meeting on 02.10.2020 3. IQAC Meeting on 25.11.2020 4. IQAC Meeting on 26.04.2021 5. IQAC Meeting on 30.07.2021 6. IQAC Meeting on 18.09.2021 7. IQAC Meeting on 27.06.2022 8. IQAC Meeting on 26.07.2022 9. IQAC Meeting on 28.09.2022 10. IQAC Meeting on 01.02.2023 The IQAC has taken comprehensive measures to encourage teachers to constantly update their teaching methods
	Seminar Conducted by IQAC	and skills to keep up with the changing times.  1. One Day National Webinar On Sadhu Ramchand Murmu & Santali Literature(30.09.2020) 2. The Peasant Movement of Bengall, Organized by Dept. of History & IQAC, Birsha Munda Memorial College(17.10.2020) 3. One Day National Level Webinar on Physical Fitness in Present Scenario, Organised by Department of Physical Education, Birsha Munda Memorial College(12.09.2021)
Reviews its teaching- learning process, structures & methodologies of operations	Annual Reports	<ol> <li>Annual Reports 2018-2019</li> <li>Annual Reports 2019-2020</li> <li>Annual Reports 2020-2021</li> <li>Annual Reports 2021-2022</li> <li>Annual Reports 2022-2023</li> </ol>
Recorded the incremental improvement in various activities.	The incremental improvement in various activities has been recorded by IQAC	





#### Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID: bmmcbu@gmail.com, Mob.: 9735221536

### IQAC Cell- 2023-24

Chairman : Principal (Dr. Anjali Mondal)

IOAC Co-Ordinator : Biswanath Mahapatra

A few members from administration : Md. Jabed Ali

Pramathesh Mahata Indrajit Mahata

Member from Teaching Staff : Dr Biswajit Patra

Utsab Ranjan Kar Anuradha Mahata Somenath Rakshit Santosh Laha

Members from Management : Dr. Md. Asif Iqbal

Sunil Kumar Mandi

Member from Local Society : Bimal Saren

Member from Student : Pinku Mahata

Member from Alumni : K.T. Murmu

Stake Holder : Nityalal Tudu
Balaram Sarda

Balaram Sardar

Principal
Birsha Munda Memorial College
Pirrah, Haludkanali, Bankura
PIN-722140, Estd-2010



#### Affiliated to the Bankura University

AT .- PIRRAH :: P.O.- HALUDKANALI :: DIST .- BANKURA :: PIN - 722140

Mail ID : bmmcbwa gmail com

#### Annual Report (2022-23)

Birsha Munda Memorial College was established in 2010 with the ceremonial laying of its foundation stone. The college began its academic journey in 2011, welcoming its inaugural batch of enthusiastic students. Since then, the college has steadfastly dedicated itself to providing higher education to the local community. Over the years, the institution has seen significant advancements in various areas, including the expansion of its infrastructure, the diversification of its academic programs, and a consistent rise in student enrollment. Despite the challenges that lie ahead, the college remains resolute in its mission to achieve its envisioned goals.

1 Total number of students of the session 2022-23

1st Year	2 <sup>nd</sup> Year	3 <sup>rd</sup> Year	Total
167	173	144	484

2 Statement of sanctioned post & appointed teacher:

Department	Name of the post	Sanctioned post	Filled up post	Vacant post
	Principal	01	01	0
Bengali	Assistant Professor & SACT	05	05	0
English	Assistant Professor & SACT	02	02	0
Santali	Assistant Professor & SACT	05	03	02
History	Assistant Professor & SACT	04	04	0
Pol. Science	Assistant Professor & SACT	02	02	0
Phy. Education	SACT	01	01	0
Geography	SACT	01	01	0
Education	SACT	01	01	0
Sanskrit	Visiting Faculty	01	01	0
Philosophy	SACT	01	01	0

#### 3. Subject Affiliated:

Bengali(Hons), Santali(Hons), History(Hons), English(Prog), Pol. Science(Prog), Phy. Education, Geography (Prog), Education(Prog), Sanskrit(Prog), Philosophy(Prog).

4. Number of books for central Library: 3278

5. Working Days: 249 Teaching Day: 191

6. Result of University Examination:

Prince of Parking Manda Memorial College Perals Haudkundle Earkura PN-722140, Esti-2010

ír	Program code	Program Name	Number of students appeared in the Final year examination	Number of students passed in the Final year examination	Pass Percentege
	B.A. Programme	B.A. Programme	80	01	1.25
	BNGH	B.A. in Bengali Hons	21	17	80.95
2022-23	HISH	B.A. in History Hons	12	05	41.67
	SNTH	B.A. in History Hons	09	07	77.8
		TOTAL	122	80	24.99

### 7. Programme Officer of NSS: Pintu Das Modak

8. Scholarship grants of stud Scholarship Name	No of Students Benefited	Funding Agency	Amount Per Student (Rs)	Total Amount (Rs)
Online Application for Scholarship in Studies (OASIS) – Post Matric	350	Government	3600/- P.A.	1,260,000/-
Central Sector Scheme of Scholarship for College and University Students (CSSS) in NSP	46	Government	12000/- P.A.	552,000/-
Swami Vivekananda Merit Cum Means Scholarship Scheme (SVMCM) (B.A.)	186	Government	12000/- P.A.	2,232,000/-
Aikyashree (Post Metric)	06	Government	6600/- P.A.	39,600/-
Kanyashree (K2)	01	Government	25000/- (one Time Grant)	25,000/-
Total	589			4,108,600/-

Principal Birsha Munda Memorial College Pirrah, Haludkanali, Bankura- 722140

Princi<sub>i</sub> Birsha Munda Memorial College Pirrah, Haludkanali, Bankura PIN-722140, Estd-2010



#### Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID: bmmcbu@gmail.com

#### Annual Report (2021-22)

The Birsha Munda Memorial College, Pirrah, Haludkanali, Bankura, traces its roots back to 2010 when the foundation stone was ceremoniously laid. However, it wasn't until 2011 that this distinguished institution opened its doors to warmly welcome its first cohort of enthusiastic students. Since that significant beginning, the college has steadfastly committed itself to the noble mission of providing higher education opportunities to the local student community. From its very start, the college has observed remarkable progress on multiple fronts. This growth has been particularly evident in the expansion of its infrastructure, the diversification of academic programs, and the consistent increase in student enrollment. While we recognize the formidable challenges that lie ahead, our determination remains unwavering as we steer this institution toward its envisioned pinnacle.

1. Total number of students of the session 2021-22

number of studen	ts of the session 2021-22	3 <sup>rd</sup> Year	Total
1st Year	2 <sup>nd</sup> Year	3 Teal	
	174	124	553
255	174		

ement of sanctioned post & appointed teacher:

Department	Name of the post	Sanctioned post	Filled up post	Vacant post
	Principal	01	Nil	01
Bengali	Assistant Professor & SACT	05	05	0
English	Assistant Professor & SACT	02	02	0
Santali	Assistant Professor & SACT	05	03	02
History	Assistant Professor & SACT	04	04	0
Pol. Science	Assistant Professor & SACT	02	02	0
Phy. Education	SACT	01	01	0
Geography	SACT	01	01	0
Education	SACT	01	01	0
Sanskrit	Visiting Faculty	01	01	0
Philosophy	SACT	01	01	0

#### 3. Subject Affiliated:

Bengali(Hons), Santali(Hons), History(Hons), English(Prog), Pol. Science(Prog), Phy. Education, Geography (Prog), Education (Prog), Sanskrit (Prog), Philosophy (Prog).

4. Number of books for central Library: 3278

Teaching Day: 226 5. Working Days: 279

Principa Birsha Munda Memorial College Pirrah, Haludkanali, Bankura PIN-722140, Estd-2010

Result of University Examination:

Year	Program code	Program Name	Number of students appeared in the Final year examination	Number of students passed in the Final year examination	Pass Percentege
	B.A. Programme	B.A. Programme	61	61	100
	BNGH	B.A. in Bengali Hons	24	24	100
2021-22	HISH	B.A. in History Hons	11	11	100
	SNTH	B.A. in History Hons	23	23	100
		TOTAL	119	119	100

### 7. Programme Officer of NSS: Mithu Roy

Scholarship grants of stu-	No of Students Benefited	Funding Agency	Amount Per Student (Rs)	Total Amount (Rs)
Online Application for Scholarship in Studies (OASIS) – Post Matric	204	Government	3600/- P.A.	7,34,400/-
Central Sector Scheme of Scholarship for College and University Students (CSSS) in NSP	15	Government	10000/- P.A.	150,000 /-
Swami Vivekananda Merit Cum Means Scholarship Scheme (SVMCM) (B.A.)	86	Government	12000/- P.A.	1,032,000/-
Aikyashree (Post Metric)	06	Government	6600/- P.A.	39,600/-
Kanyashree (K2)	NIL			NIL
Total	311		No. of the last of	1,956,000/-

9. Sminar/Webinar organized:
One Day National Level Webinar on Physical Fitness in Present Scenario,
Organised by Department of Physical Education, Birsha Munda Memorial College(12.09.2021)

Principal Birsha Munda Memorial College Pirrah, Haludkanali, Bankura- 722140

> Prince Birsha Munda Memorial College Pirrah, Haludkanali, Bankura PIN-722140, Estd-2010



#### Affiliated to the Bankura University

AT .- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : bmmcbu a gmail com

#### Annual Report (2020-21)

Birsha Munda Memorial College was established in 2010 with the ceremonial laying of its foundation stone. The college began its academic journey in 2011, welcoming its inaugural batch of enthusiastic students. Since then, the college has steadfastly dedicated itself to providing higher education to the local community. Over the years, the institution has seen significant advancements in various areas, including the expansion of its infrastructure, the diversification of its academic programs, and a consistent rise in student enrollment. Despite the challenges that lie ahead, the college remains resolute in its mission to achieve its envisioned goals.

#### 1. Total number of students of the session 2020-21

1st Year	2 <sup>nd</sup> Year	3 <sup>rd</sup> Year	Total	
230	137	97	464	

2. Statement of sanctioned post & appointed teacher:

Department	Name of the post	Sanctioned post	Filled up post	Vacant post
	Principal	01	Nil	01
Bengali	Assistant Professor & SACT	05	05	0
English	Assistant Professor & SACT	02	02	0
Santali	Assistant Professor & SACT	05	04	01
History	Assistant Professor & SACT	04	04	0
Pol. Science	Assistant Professor & SACT	02	02	0
Phy. Education	SACT	01	01	0
Geography	SACT	01	01	0
1.ducation	SACI	01	01	0
Samkrit	Visiting Faculty	01	01	0
Philosophy	SACT	01	01	0

#### 3 Subject Affiliated

Bengali(Hons), Santali(Hons), History (Hons), English (Prog), Pol. Science (Prog), Phy Education, Geography (Prog), Education (Prog), Sanskritt (Prog), Philosophy (Prog).

4. Number of books for central Library: 3278

5. Working Days: 266 Teaching Day: 220

Birsha Munda Memorial College Perah, Hawakanali, Bankura Pita 722140, Estd-2010 ult of University Examination:

ear	Program code	Program Name	Number of students appeared in the Final year examination	Number of students passed in the Final year examination	Pass Percentege
	B.A. Programme	B.A. Programme	53	47	88.68
	BNGH	B.A. in Bengali Hons	22	22	100
2020-21	HISH	B.A. in History Hons	21	21	100
	SNTH	B.A. in History Hons	24	23	95.83
		TOTAL	120	113	94.17

### 7. Programme Officer of NSS: Kajal Biswas

8. Scholarship grants of stud Scholarship Name	No of Students Benefited	Funding Agency	Amount Per Student (Rs)	Total Amount (Rs)
Online Application for Scholarship in Studies (OASIS) – Post Matric	87	Government	3600/- P.A.	313,200/-
Central Sector Scheme of Scholarship for College and University Students (CSSS) in NSP	10	Government	10000/- P.A.	100,000 /-
Swami Vivekananda Merit Cum Means Scholarship Scheme (SVMCM) (B.A.)	24	Government	12000/-P.A.	288,000/-
Aikyashree (Post Metric)	03	Government	6600/- P.A.	19800/-
Kanyashree (K2)	06	Government	25000/- (One Time Grant)	150000/-
Total	130			871,000/-

#### 9. Sminar/Webinar organized:

One Day National Webinar On Sadhu Ramchand Murmu & Santali Literature(30.09.2020)
 The Peasant Movement of Bengall, Organized by Dept. of History & IQAC, Birsha Munda Memorial College(17.10.2020)

Principal na Munda Memorial College Prindiprah, Haludkanall, Bankura-722140 Birsha Munda Memorial College Pirrah, Haludkanali, Bankura PIN-722140, Estd-2010

#### Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : bmmcbu@gmail.com

#### Annual Report (2019-20)

Birsha Munda Memorial College was established in 2010 with the ceremonial laying of its foundation stone. The college began its academic journey in 2011, welcoming its inaugural batch of enthusiastic students. Since then, the college has steadfastly dedicated itself to providing higher education to the local community. Over the years, the institution has seen significant advancements in various areas, including the expansion of its infrastructure, the diversification of its academic programs, and a consistent rise in student enrollment. Despite the challenges that lie ahead, the college remains resolute in its mission to achieve its envisioned goals.

1 Total number of students of the session 2019-20

1 <sup>st</sup> Year	2 <sup>nd</sup> Year	3 <sup>rd</sup> Year	Total
216	126	103	445

2. Statement of sanctioned post & appointed teacher:

Department	Name of the post	Sanctioned post	Filled up post	Vacant post
	Principal	01	Nil	01
Bengali	Assistant Professor & PTT/Guest/SACT	05	05	0
English	Assistant Professor & PTT/Guest/SACT	02	02	0
Santali	Assistant Professor & PTT/Guest/SACT	05	04	01
History	Assistant Professor & PTT/Guest/SACT	04	04	0
Pol. Science	Assistant Professor & PTT/Guest/SACT	02	02	0
Phy. Education	Guest/SACT	01	01	0
Geography	Guest/SACT	01	01	0
Education	Guest/SACT	01	01	0
Sanskrit	Guest/SACT	01	01	0
Philosophy	Guest/SACT	01	01	0

#### 3. Subject Affiliated:

Bengali(Hons), Santali(Hons), History(Hons), English(Prog), Pol. Science(Prog), Phy. Education, Geography (Prog), Education(Prog), Sanskrit(Prog), Philosophy(Prog).

Principal Birsha Munda Memorial Colle Pirrab. Haludkanali Banda

4. Number of books for central Library: 3278

Norking Days:258

Teaching Day: 228

6. Result of University Examination:

Year	Program code	Program Name	Number of students appeared in the Final year examination	Number of students passed in the Final year examination	Pass Percentege
	B.A. Programme	B.A. Programme	35	16	45.71
	BNGH	B.A. in Bengali Hons	19	18	94.74
2019-20	HISH	B.A. in History Hons	10	4	40
	SNTH	B.A. in History Hons	08	05	62.5
		TOTAL	72	43	59.72

## 7. Programme Officer of NSS: Sunil Kumar Mandi

8 Scholarship grants of students:

8. Scholarship grants of stu Scholarship Name	No of Students Benefited	Funding Agency	Amount Per Student (Rs)	Total Amount (Rs)
Online Application for Scholarship in Studies (OASIS) – Post Matric	NIL	N.A		NIL
Central Sector Scheme of Scholarship for College and University Students (CSSS) in NSP	03	Government	10000/- P.A.	30000/-
Swami Vivekananda Merit Cum Means Scholarship Scheme (SVMCM) (B.A.)	04	Government	12000/- P.A.	48000/-
Alkyashree (Post Metric)	03	Government	6600/- P.A.	19800/-
Kanyashree (K-1)	03	Government	750/- P.A.	2,250/-
Kanyashree (K2)	23	Government	25000/- (One Time Grant)	575000 /-
Total	36			675,050/-

Birsha Munda Memorial College Pirrah, Haludkanali, Bankura- 722140

Principal
Birsha Manda Memoral College
Pirich, Hidudaurian Bankura
PIN-722140, Estit-2018

#### Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : bmmcbu@gmail.com

#### Annual Report (2018-19)

Birsha Munda Memorial College was established in 2010 with the ceremonial laying of its foundation stone. The college began its academic journey in 2011, welcoming its inaugural batch of enthusiastic students. Since then, the college has steadfastly dedicated itself to providing higher education to the local community. Over the years, the institution has seen significant advancements in various areas, including the expansion of its infrastructure, the diversification of its academic programs, and a consistent rise in student enrollment. Despite the challenges that lie ahead, the college remains resolute in its mission to achieve its envisioned goals.

1 Total number of students of the session 2018-19

	2 <sup>nd</sup> Year	3 <sup>rd</sup> Year	Total
1 <sup>st</sup> Year	Z 1 cai		FIA
245	182	83	310

2 Statement of sanctioned post & appointed teacher:

Department	Name of the post	Sanctioned post	Filled up post	Vacant post
	Principal	01	Nil	01
Bengali	Assistant Professor & PTT/Guest	05	05	0
English	Assistant Professor & PTT/Guest	02	02	0
Santali	Assistant Professor & PTT/Guest	05	04	01
History	Assistant Professor & PTT/Guest	04	04	0
Pol. Science	Assistant Professor & PTT/Guest	02	02	0
Phy. Education	Guest Lecturer	01	01	0
Geography	Visiting	01	01	0
Education	Visiting	01	01	0
Sanskrit	Visiting	01	01	0
Philosophy	Visiting	01	01	0

#### 3. Subject Affiliated:

Bengali(Hons), Santali(Hons), History(Hons), English(Prog), Pol. Science(Prog), Phy. Education, Geography (Prog), Education(Prog), Sanskrit(Prog), Philosophy(Prog). Principali

4. Number of books for central Library: 3278

Birsha Munda Memorial College Pirrah, Haludkanali, Bankura PINL799140 Feld 904

working Days: 254 Teaching Day: 229

6. Result of University Examination:

Year	Program code	Program Name	Number of students appeared in the Final year examination	Number of students passed in the Final year examination	Pass Percentege
	B.A. Programme	B.A. Programme	35	16	45.71
	BNGH	B.A. in Bengali Hons	19	18	94.74
2018-19	HISH	B.A. in History Hons	10	4	40
	SNTH	B.A. in History Hons	08	05	62.5
		TOTAL	72	43	59.72

#### 7. Programme Officer of NSS: Sunil Kumar Mandi

#### 8. Scholarship grants of students:

Scholarship Name	No of Students Benefited	Funding Agency	Amount Per Student (Rs)	Total Amount (Rs)
Online Application for Scholarship in Studies (OASIS) – Post Matric	237	Government	3600/-P.A.	853,200/-
Central Sector Scheme of Scholarship for College and University Students (CSSS) in NSP	03	Government	10000/- P.A.	30,000/-
Swami Vivekananda Merit Cum Means Scholarship Scheme (SVMCM) (B.A.)	05	Government	12000/- P.A.	60,000/-
Kanyashree (K2)	43	Government	25000/- (One Time Grant)	1,075,000/-
Total	288			2,018,200/-

Principal Birsha Munda Memoriai College Pirrah, Haludkanali Bankura- 722140

Birsha Munda Memoriai College Pirrah, Haludkanali, Bankura PIN-722140, Estd-2010



Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : bmmcbu@gmail.com

## 6.5.1 Internal Quality Assurance Cell (IQAC) has contributed significantly for institutionalizing the quality assurance strategies and processes

Facilities/Features	Last status on (2017-18)	Development made in the last 5 years (2018-19 to 2022-2023)	
Number of classrooms	06	20	To construct and increase the number of classrooms
Number of laboratories	0	02	To construct and increase the number of laboratories
Number of full-time permanent Faculty members	04	21	All efforts to be made to engage permanent full time faculties
Programmes offered	06	10	To start new UG Programme (UG Course in Geography, Sanskrit, Educaion, Philosophy)
Collaboration in Teaching	Nil	05	To initiate collaborative effort in faculty exchange (MoU's).

Principal

Birsha Munda Memorial College

Pirrah, Haludkanali, Bankura- 722140

Principal
Birsha Manda Memorial College
Pirrah, Haludkanali, Bankura
PiN-722140, Estd-2010



Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : hmmchu a gmail.com

Number of Computers	03 desktop,1 laptop	10 desktop,2 laptop	To increase the number of computers
Campus LAN and Wi-Fi	N.A	LAN and Wi-Fi in office	Connectivity to be increased.
ICT enabled classrooms & Computer lab	01	01	To maximize use of ICT in teaching
Portable Projector	0	02	To unlock several benefit that go Beyond teaching tool.
Number of Books in Library	3278	3278	More books will be purchased in the coming days
Gymnasium	Not present	Not present	Gymnasium to be setup
Yoga Hall	Not present	Present	Yoga Hall has been setup
Sports grounds	present	present	Trying to create gallery in future
Musical Instrument	0	0	Arrangements will be made in the coming days(Santali Department)
Eco friendly approaches: • Plastic free zone	Present	Present	Eco-friendly approaches for plastic free zone initiated by our college in surroundings
Disabled friendly initiatives: •Ramps	0	01	More ramps to be constructed, campus be made accessible to disabled learner

Birsha Munda Memorial College Pirrah, Haludkanali, Bankura- 722140

Principal Birsha Manda Memoriai College Pinah, Hallutkanali, Bankura PIN-722140, Esta 2010



Affiliated to the Bankura University

AT.- PIRRAH :: P.O.- HALUDKANALI :: DIST.- BANKURA :: PIN - 722140

Mail ID : bmmcbu@gmail.com

#### Seminar/Webinar organized (2018-2023)

- 1. One Day National Webinar On Sadhu Ramchand Murmu & Santali Literature (30.09.2020)
- The Peasant Movement of Bengall, Organized by Dept. of History & IQAC, Birsha Munda Memorial College(17.10.2020)
- 3. One Day National Level Webinar on Physical Fitness in Present Scenario, Organised by Department of Physical Education, Birsha Munda Memorial College(12.09.2021)

Principal
Birsha Munda Memorial College

Principal
Birsha Munda Memorial College
Pirrah, Haludkanali, Bankura
PIN-722140, Estd-2010

Pirrah, Haludkanali, Bankura-722140